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x1(1)

BIERERITHEDRE LHER

HE [HEAR | R BOEI[AT,BE [RNAE[HITRRAE MLE [UERE| BERER | ARRZEE | &ReE | HE .
=) B | HIREE(m) [RE(°C) (m) = (°C/m) |(°C/100m) [ EREE o] Gt Fom) | CEfHE)
LR c) (m/s) (60mADJE | ESREEY[ TR [FKRO,x |RHEO, x

BES 42 50 0.2 | 0.00400 0.400 4.9 T EoRT D 100.0 X x
£ 2 0 50 0.2 | 0.00400 0.400 1.3 0] miE3 G 250.0 X x
EES 6] 50 0.7 | 0.01400 1.400 4 2] JRR4 G 500 x O
EES ] 3 150 1.2 | 0.00800 0.800 05 Y G 500] X X
EES 5| 50| 250 14 X 200 1.7 | 0.00850 0.850 11 20 JEE? D 50.0) X X
BES 6] 50 300 06 7 250 2.1 0.00840 0.840 1.7 39 JEE4 G 50.0 X X
BES 7] 50[ 300 05[] 238 250 3.3 001320 1.320 0.7 16]  EE G 50.0 X X
B3 8 50 250 01 . 200 2.9 | 0.01450 1.450 1.4 32| JEE G 50.0 x X
BEES 9| _100] 300 5 4 200 1.9 | 0.00950 0.950 0.6 0.9 maE C 100.0 X X
EES 0] __200] 250 Xl 50 0.5 | 0.01000 1.000 15 0 mE A-B 200.0 X X
EES 1[50 100 5 . 50 0.4 [ 0.00800 0.800 1.0 JEBES G 500 O (@)
EES B 4] 50] 250 49| 6.0] 200 1.1 | 0.00550 0.550 0.8 JERES G 500 X X
ZF B 50 150 45 55 100 1.0 [ 0.01000 1.000 1.0 3 EE G 50.0) ® X
EES B 4 __50] 100 45| 52 50 0.7 [ 0.01400 1.400 0.5 0.9 mix D 500 O [@]
BES H 5] _50] 150] 44] 48[ 100 0.4 | 0.00400 0.400 0.6] 1. ER2 D 50.0 [@) O
X= H 6] 50 7j00] 40[ 48] 50 0.6 | 0.01200 1.200 1.3 23] JEuE3 D 50.0 X [@)
BES 7]_100[ 200 35[ 3.9 100 0.4 | 0.00400 0.400 11 20 JEaE2 D 7100.0) X X
EES 0] _400] 450 Al 24 50 0.3 | 0.00600 0.600 9 Al EoEA D 400.0) X X
EES 250 300 5 27 50 0.2 | 0.00400 0.400 4 43 EiES D 250.0 X x
EES 400700 8] 44 300 1.6 | 0.00533 0.533 : 23] EiE3 D 400.0) X X
EES 50[ _100] 25 27 50 0.2 | 0.00400 0.400 4 46| JR=®S5 F 500 O [0]
EES 1 50 100] 46| 50 0 0.4 | 0.00800 0.800 1 55 JELES D 500 O [#]
BES 50 _100] 36| 338 0 0.2 | 0.00400 0.400 7 39| EuE4 G 500 O ©
EE3 2 50| _100] 25 38 0 1.3 | 0.02600 2.600 3 2.6] JELE3 E 500 O o
B3 3 50 150 1.(4 2.0 100 1.0 [ 0.01000 1.000 0.6 14 maE2 G 50.0 X X
EES 450 7joo[ o8] 1. 50 0.3 | 0.00600 0.600 0.5 1] Jeo&z2 G 50.0 [@) (3]
EES 5 50| 150] 0. 3 100 0.7 | 0.00700 0.700 1.4 2] JmaE4 G 50.0 X X
£ 6] 50| 100 o. 0 50 0.8 | 0.01600 1.600 0.8 8 miE [ 500 O [6)
EES 750 200] o. 4 150 1.1] 000733 0.733 1 0 mE D 50.0) X X
EES 8] 50[ 250 -0. 5[ 200 0.6 | 0.00300 0.300 05 09| JE& D 500 O 3
EES o _100] 150 08| 1.0 50 0.2 | 0.00400 0.400 1.4 32| miE4 G 100.0 X x
BES 10] _300[ 450 08 15 150 0.7 | 0.00467 0.467 1.3 1. RR2 B 300.0 X X
BES 1 11| _200[ 300 15| 28] 100 1.3 [ 0.01300 1.300 1.3 23] &3 D 200.0 X X
B3 2 50| 300 3.1 34 50 0.3 | 0.00600 0.600 338 5. EES A-B 50.0 x X
BES 00 250 59] 6. 150 0.7 | 0.00467 0.467 14 3. JERET G 00.0 X X
EES 4] 200] 250 50[ 5. 50 0.2 | 0.00400 0.400 5.7 102] &7 D 00.0 X x
£ A 00[ 250 5 50 0.3 | 0.00600 0.600 44 EE>5 F 00.0 X x
EES 4|50 _100] 34 50 0.4 | 0.00800 0.800 55 JE=®5 F 500 O (0]
E= [ 47176 50 250] 114 1 200 1.3 | 0.00650 0.650 ) 30| ELE3 G 50.0 X X
E= [ 4 = 4100 200 11.1[ 12, 100 0.9 [ 0.00900 0.900 0. 18] [mik? G 100.0 X X
EES 4 H 5] _50] 300] 11.0[ 11.8 250 0.8 | 0.00320 0.320 1. 25 JE.R3 G 50.0 X X
&= 4 H 6] 50 150 105[ 119 100 1.4 [ 0.01400 1.400 11 25 JEuE3 G 50.0 x X
&= 4 H 7 ) ) I 100 0.7 | 0.00700 0.700 1.0] 18] k2 D 50.0 X X
&= 4 8] 50 100 8 0 50 0.2 | 0.00400 0.400 13 2 =3 D 50.0 () [@)
[EZ | 47 9| 300 400 9 125 100 0.6 | 0.00600 0.600 1.4 2.1 JA=&3 B 00.0 x x
E= [ 4 10 _350] 450 7 5 100 0.8 [ 0.00800 0.800 0. 0.1 JELEO B 50.0) X X
EE [ 4 24| 100|150 12.4] 12.6] 50 0.2 | 0.00400 0.400 0. 4 maE D 000 O O
&= | 4 4100 250 8 121 50 1.3 | 0.00867 0.867 0. 8] & G 00.0 x X
EZ | 4 5 _50[ 350] 10| 119 00 1.8 | 0.00600 0.600 0.6 =R G 50.0 X X
E= | 4 6] 50| 200] 10.3] 11.0 50 0.7 | 0.00467 0.467 13 23] EaE3 D 500 O X
E= | 4 750 100[ 11.0] 112 50 0.2 | 0.00400 0.400 1.5 22| EiE3 B 500 O (@)
&= 4 8] 350] 450 10.3[ 12.9 100 2.6 | 0.02600 2.600 (K] 15 miE2 A-B 350.0 X X
E= | 4 9| 450] 600 9 150 1.8 | 0.01200 1.200 i JEBES A-B 450.0 X x
[EZ | 47 0] 450 500 5 50 0.6 | 0.01200 1.200 9 JEBES A 450.0 x x
E=E [ 4 150]__200 0 50 0.4 | 0.00800 0.800 H JEBE G 150.0 X X
E= [ 4 B 50 100 0 50 0.3 | 0.00600 0.600 8 A JEaES G 500 O O
EES 4 B 50] 100] 145] 153 50 0.8 | 0.01600 1.600 0.6 14| &2 G 500 O [@)
EEES 4 = 3100 150 13.6] 144 50 0.8 | 0.01600 1.600 0.7 12]  Jmak2 D 700.0) X X
E= | 4 B 4]_50] 200] 135 145 150 1.0 | 0.00667 0.667 0.9 16]  JEo&m2 D 500 O X
E= | 4 B 5 50 100] 13.6] 145 50 0.9 [ 0.01800 1.800 1.1 20 JEuE2 D 500 O (@)
EES 4 H 6] 50 100] 13.6] 14.3 50 0.7 | 0.01400 1.400 0.9 1.6] [mak2 D 50.0 [@) [@)
EES 4 7]_50] 100] 13.9] 141 50 0.2 | 0.00400 0.400 1.4 5] JEoE3 D 50.0 [ (@)
[EZ | 47 150 200[ 147 14.9 50 0.2 [ 0.00400 0.400 1.0 EE2 B 50.0) X x
E= [ 4 250[ 300 15.2] 157 50 0.5 [ 0.01000 1.000 0.6 EiE2 D 250.0) X X
E= | 4 21| 400 450] 114] 118 50 0.4 [ 0.00800 0.800 4.9 7 maR7 D 400.0 X X
&= 4 24] 100 150 11.1[ 114 50 0.3 | 0.00600 0.600 5.0 9 R/ D 100.0) X X
EEES 4 3_100[ 350 89[ 10.9 250 2.0 | 0.00800 0.800 45 0] &R/ D 100.0) X X
E= | 4 4] 50| 250 9.1 108 200 1.7 | 0.00850 0.850 54 0.6 JEuER7 D 500 O X
&= 4 5200 300] _8.2[ 10.9 100 2.7 | 0.02700 2.700 47 84| R/ D 200.0 X X
E= | 4 6] 150 300 7110 50 2.3 | 001533 1533 5.1 01| JmuR7 D 150.0 X X
EES 45 7|_200] 350 2| 105 50 1.3 | 0.00867 0.867 8 55| JE:®ES [ 200.0 % X
E= [ 4 9] _450] 600 4100 50 0.6 | 0.00400 0.400 9 EE3 B 450.0) X X
E= N 0] _400] 450 2] 118 50 0.6 | 0.01200 1.200 4 R AB 400.0 X X
E= | 4 24 50 200 2| 138 150 0.6 [ 0.00400 0.400 0.6 JEE2 G 500 © X
EES 3 4]_100] 150 7]_134 0 0.7 | 0.01400 1.400 1.0 BT D 7100.0) X X
EES 4 5 __50] 100] 127 133 0 0.6 | 0.01200 1.200 0.6] 11| JEo&2 D 50.0 [©) O
3 4 6] 100 150 124] 132 50 0.8 | 0.01600 1.600 1.2 2.1 JEaE3 D 100.0 % X
EF= | 4 7[ 100|200 12.2] 12.9] 100 0.7 | 0.00700 0.700 0.9 16]  mik2 D 100.0 X X
EEN 4]_300] 350] 15 6.1 50 0.2 | 0.00400 0.400 0. 05 max D 300.0 3 X
EZ [ 47 5| 350[ 400] 15 62 50 0.3 [ 0.00600 0.600 0. JERES D 350.0 X X
EZE [ 4 50 100 7.2 50 0.4 | 0.00800 0.800 1. JEBE D 500 O (0]
E= | 4 250|350 0. 00 [0 | 0.02000 .000 5] JEBE D 250.0 X X
E= 4 50] 200] 16.8] 19. 0 4] 001600 600 4.0 A EuE6 D 50.0 X X
EZE [ 4 50[ _200] 15.1] 1738 0 .7 | 0.01800 800 18 41 JEuES G 50.0) X X
EES 4 3_50[ 200] 14.0[ 16.9 150 2.9 | 001933 1.933 0.8 18] mE2 G 50.0 X %
&= 4 4 50 200] 14.0[ 16.1 150 2.1 001400 1.400 1. 27| JEE3 G 50.0 X %
EES 4 5] __100] 350 14.0[ 16.3 250 2.3 | 0.00920 0.920 0. 21 JEaE3 G 7100.0) 3 X
E= | 4 6] 50| 300] 13.8] 16. 250 .3 | 0.00920 0.920 in JEBES D 50.0 X X
[EZ [ 47 7]_100[ 150 14 5. 50 2 | 0.02400 2.400 0. JERES D 00.0 x X
E= | 4 8] 150 250] 15. 6. 100 .0 | 0.01000 1.000 1.4 JEBES B 50.0) X X
E= | 4 9| 200 250] 15 6. 50 0.2 | 0.00400 0.400 1.0 5 R B 00.0 X X
EES 18 4] 50 150] 26.7] 27.1 100 0.4 | 0.00400 0.400 1.5 34| EaE4 G 50.0) X x
EES 7H31H 5| __50] _100] 26.7] 27.0 50 0.3 [ 0.00600 0.600 0.6 14 Jmo&E2 G 500 O o
EES TH31H 6] 150 250 26.4] 26.9 100 0.5 | 0.00500 0.500 0.4 0.7] &I D 150.0) X %
EE3 TH3TH 21 150 200] 31.5] 31.7 0 0.2 | 0.00400 0.400 i1 25 LR G 150.0 X X
EES il = 24| 50| 100] 29.5] 29.8] 0 0.3 [ 0.00600 0.600 0.6 Y. G 500 O (6]
CES 50| 200] 27.7] 285 150 0.8 [ 0.00533 0.533 7 T D 500 O X
EES 4|50 _100] 27.7] 287 50 1.0 | 0.02000 2.000 0] A& G 500 O (6]
EES 5|50 150] 27 7.7 100 0.6 | 0.00600 0.600 0 mE G 50.0 X X
== 6] 50 100 27. 8.1 50 0.2 | 0.00400 0.400 9 miE D 500 O @)
EES 7] _50] 100 27 7.8 50 0.2 | 0.00400 0.400 ] T EE B 50.0 [@) [@)
EES 8| 350] 400 265] 26.8 50 0.3 | 0.00600 0.600 1.3 18] maE2 A-B 350.0 X %
EES 6] 50| 100] 27.6] 27.8 50 0.2 | 0.00400 0.400 11 20 EiE2 D 500 O o
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_;H;g HEAR HH;IIE% N . BOEE %T;i?nf;?t AR AR[EEHEE Eim u%&%éﬁ Jﬁgg%& REREE Hji,i.%‘f;“z (g{ufg) .
s B Em) RE(C (m) (°c/m) |(°C/100m) |3 B 3 (h Fom) | CEfRE
TP [EFE |[FFE |ERR | c) (m/s) (6OmDJE | tSREEY[ TR KO x 2RO, x
EE3 21| _450[ 500[ 25.3[ 255 50 0.2 |_0.00400 0.400 14 32| maR4 G 450.0 X X
EES A 400] 450] 24.7] 25.0 50 0.3 [ 0.00600 0.600 0.8 1 EiE2 A-B 400.0 x x
EE3 H 1 450 _500] 27.7] 280 50 0.3 | 0.00600 0.600 35 5. &S C 450.0 X X
[FZE [ 10 B 4 50] 100] 18.4] 18. 50 0.5 | 0.01000 1,000 1.0 18] Eox2 D 50.0 @) (0]
#TE [ 10 B 7] 50[ 250] 179] 18. 200 1.0 | 0.00500 0.500 11 20 EuE2 D 500 O x
[#ZE [ 10 H 8] __150] 250[ 17.8] 18. 100 0.4 |_0.00400 0.400 0.7 12] &2 D 150.0 X X
[#ZE [ 10 H 9| 200] 350 175] 184 150 0.9 | 0.00600 0.600 0.7 12]  EoR2 D 200.0 X X
[#= [ 10 24| _200[ 350 9 160 150 0.1 | 0.00067 0.067 7 0 Jma&4 D 200.0 x x
[BZE [ 10 6] __450] 700 5|_145] 250 1.0 | 0.00400 0.400 4 4.3 EL&ED D 450.0 X X
[FZ= [ 10 7]__150] 200] 145 14.7 50 0.2 [ 0.00400 0.400 il T maE4 D 150.0 X X
[Fi= [ 10 8| 450 500 13.6] 13.9 50 0.3 [ 0.00600 0.600 0.6 11 &2 D 450.0 X X
[#ZE [ 10 9| _200] 250] 14.6] 148 50 0.2 | 0.00400 0.400 0.3 05 &1 D 200.0 X X
#TE [ 10 18] 200 250[ 175 177 50 0.2 [ 0.00400 0.400 3.4 6.7 JEs&=6 E 200.0 X x
[FZ= [ 10 24| _100] 150 17.8] 183 50 0.5 [ 0.01000 1.000 54 96] R/ D 100.0 X X
[#ZE [ 10 4] 150] 200 17.7] 179 50 0.2 |_0.00400 0.400 1.8 41 maED G 150.0 X X
FEIEN 5| 150] 200] 17.6] 17.9 50 0.3 [ 0.00600 0.600 5 45 EED D 150.0 x x
[FZ [0 6] __100] 150 0 3 50 0.3 | 0.00600 0.600 4 2 JEEE E 100.0 X X
ES 0 5] 750 150 Xl 0 100 0.9 |_0.00900 0.900 5 2] JEsR6 D 50.0 X X
[#i= | 108260 8] __150] 200 3 6 50 0.3 [ 0.00600 0.600 4 43| JEES D 150.0 X x
ES 0 H 12| 450 500 K| 2 50 0.4 | _0.00800 0.800 42 5. ELRD C-D 450.0 X X
[#Z [ 10H26H 8] 150 200] 19.1] 19 50 0.2 | 0.00400 0.400 3. 1 Eak E 50.0 X X
ZE | 10H26H 1] 150 200] 17.4] 18 50 0.8 [ 0.01600 1.600 0. RS E 50.0 x x
BES 0 H 4] 100|250 16.6] 17 150 1.3 | 0.00867 0.867 1. 20]  EE D 00.0 X 3
[#i= [ 108270 3]__50] 100 159] 16.2 50 0.3 [ 0.00600 0.600 18 32| &4 D 500 O @)
[#= [ 108278 4 50 100 15.7] 16 50 0.4 [ 0.00800 0.800 1.8 4 RS G 500 O o
HEED 5]__50] 200] 155 16 150 1.4 | 0.00933 0.933 0.7 1 EiE2 G 500 O X
[FZ= [ 10 6] 50| 100] 153 16 50 0.8 | 0.01600 1.600 0.6 T4 miE2 G 500 O [@)
[#Z [ 10 7|_700[ 150 154] 158 50 0.4 | 0.00800 0.800 1.2 2 EE3 D 00.0 X X
[ZE [0 8100 150] 15.0] 155 50 0.5 [ 0.01000 .000 0.5 0.9 JELEI D 000 O [6)
[RZE [ 10 9] 300] 350 154] 16.0 50 0.6 | 0.01200 200 ] 9] maE3 D 00.0 x X
0F 10[ 250 300] 15.3] 16.5 50 1.2 [ 0.02400 400 . 6| JmsE2 A-B 50.0 x x
0H27H 21| 50] 100] 17.1] 17.7 50 0.6 [ 0.01200 200 ¥ 46| JELES F 500 O @)
10 =] 3] __250] 300] 148 15.1 50 0.3 | 0.00600 0.600 21 40 &b F 250.0 X X
10H28H 4] 150 200 15.0[ 15.2 50 0.2 [ 0.00400 0.400 2.0 38| R4 F 150.0 X x
10 28H 5] _50] 100] 149 154 50 0.5 [ 0.01000 1.000 1.8 41 JEoES G 500 O [@)
0 6] 50| 250 14.7] 155 200 0.8 | 0.00400 0.400 2.6 50| iS5 F 50.0 X X
0 7] 150 250 T42[ 149 100 0.7 [ 0.00700 0.700 3 41 E&ES D 50.0 X X
0 50[ _200[ 14.2] 14.8| 50 0.6 | 001200 1.200 2 2] EoRA C 50.0 X X
0 50| _350] 15.0] 158 100 0.8 [ 0.00800 0.800 5 O maE A-B 50.0 X X
0H28H 2 50| _150] 15.7] 17.9 100 2.2 | 0.02200 2.200 5 4] EaR4 G 50.0 X X
T0H28H 24| _100] 300] 149 16.4] _ 200 15| 000750 0.750 13 23] i3 D 100.0 X X
10H29H 3 50[ 100] 145 151 50 0.6 [ 0.01200 1.200 0.9 16]  EuE2 D 500 O [6)
10H29H 4|50 _100] 14.7] 15.7 50 1.0 [ 0.02000 2.000 0.6 11 maE2 D 500 O [@)
T0H29H 5] 50| 250 14.2] 150] 200 0.8 [ 0.00400 0.400 0.9 16]  JEox2 D 50.0 X X
0H29H 6] 50] 250 140 156] 200 1.6 | 0.00800 0.800 1 21 mak D 50.0 x x
0H29H 7]_100[ 150 ) 23| 50 0.9 [ 0.01800 1.800 0. T4 BELE D 00.0 X X
0 B 50 250 ) 38 700 0.7 | 0.00700 0.700 0. 05 L& D 50.0 X X
0F29H 1 50 300 ] 3.2 50 0.4 [ 0.00800 0.800 0.4 0.7 L& D 50.0 x x
0H29H 2 50 150 ] 57 700 0.8 [ 0.00800 0.800 0. 18] R G 50.0 X X
10H29H 24]_100] 200[ 13.8] 144 100 0.6 | 0.00600 0.600 1.0 3 EaE G 100.0 X X
105308 3 50[ 100 120 127 50 0.7 | 0.01400 1.400 1.0 8] EuE D 500 O [@)
10H30H 450 150 11.7] 12.9 700 1.2 | 0.01200 1.200 0.8 4 EaE D 50.0 X X
T0H30H 5] 50| 300] 12.1] 143 250 2.2 | 0.00880 0.880 12 21 Ea&3 D 50.0 X X
10H30H 6] 100] 400] 120 143 300 2.3 | 000767 0.767 0.5 11| muE2 G 100.0 x x
10H30H 7]_100] 300] 11.8] 14.7 200 2.9 | 001450 1.450 0.3 05 EEl D 100.0 X X
0H30H 8|__100] 450 12.4] 147 350 -3 | 0.00657 0.657 0.1 0.2]  JEL&0 D 000 O X
0H30H 9| _150] 300] 14.0[ 153 150 .3 0.00867 0.867 0.4 05 EEI A-B 50.0 X X
0H30H 10] 250 300 154 16.6] 50 .2 | 0.02400 2.400 1.0 T4 EoE2 A-B 50.0 X X
T0H30H 18] 50| 100 18.6] 188 50 0.2 | 0.00400 0.400 2.1 40 JEoEb F 500 O (0]
10 21| 50] 150] 16.1] 17.6 100 1.5 | 001500 1.500 0.3 0.7 JELEI G 500 O [@)
T0H30H 24| 50| 150 145 165 100 2.0 | 0.02000 2.000 1.3 30 Es&E3 G 50.0 X X
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g? HEAR giﬁ U W— EDEY] %T;;‘EIE R BE| HIREE gJ:Jil UQ[;E%E @%g%& ARREE | BB E (é{”ﬁi .
fi i =Em) [BE(CC (m) (°C/m) |(°C/100m) 3 ERELS 73 (th Fom) | CEFE

TR [EFE [TER [EIR c) (m/s) (60m®DJE | ESEFY[ TR 2RO, x |ZKO, X
ZEZE | 1H19 10] _200] 250[ 31| 3.9 50 0.5 | 0.01000 1.000 15 20 EE3 A-B 200.0 X X
BEES 38 10[ 300[ 450 0. 5 150 0.7 | 0.00467 0.467 = 19| maE2 B 00.0 x X
EES 3H 12| _250[ 300 1 4 50 0.3 | 0.00600 0.600 8 5. ER5 A-B 50.0 X X
[E= | 4A1/8 9] 300] 400 5 100 0.6 | 0.00600 0.600 4 21| EaE3 B 00.0 X X
[F= | 4H178] 10| 350] 450 i 5100 0.8 | 0.00800 0.800 0.1 0.1 J&=®0 B 3500 x x
EFZ | 4 E 7[__50] 100 O 1. 50 0.2 | 0.00400 0.400 1.5 22| A% B 500 O O
&= | 4 B 8] 350 450] 10. g 100 2.6 | 0.02600 600 1 15 = A-B 350.0 X X
E= | 4H18H o] 450 600[ 11.1] 12 150 1.8 | 0.01200 200 il 15 R A-B 450.0 x X
[FE= | 4H18H 0] _450[ 500 129] 135 50 0.6 | 0.01200 200 19 22 m=E A 450.0 X X
&= 4H19H 8] 150 200[ 14.7] 14.9 50 0.2 | 0.00400 0.400 1.0 15 EaE B 150.0 % X
&= | 4H20H 9| 450] 600 9.4 10.0 150 0.6 | 0.00400 0.400 1.9 28] EiE3 B 450.0 X X
E= 4F20H 10[ 400[ 450] 11.2[ 11.8| 50 0.6 | 0.01200 1.200 24 33 x4 A-B 400.0 X X
3 4H238 8] 150 250 15.2] 16.2 100 1.0 | 0.01000 1.000 1.4 21 JmaE3 B 150.0 X X
E= 4H23H O] 200 250[ 159] 16.1 50 0.2 | 0.00400 0.400 1.0 15 maE2 B 200.0 X X
EE3 B 7] 50[ 100 27.6] 278 50 0.2 | 0.00400 0.400 1. 7] EaE B 50.0 @) (@]
EES AiE 8| 350 400] 265 26.8 50 0.3 | 0.00600 0.600 1 8 miE A-B 350.0 x 3
EE3 B 8| 400 450] 24.7] 250 50 0.3 | 0.00600 0.600 0. S A-B 400.0 X X
[#Z [ 107278 T0]__250] 300 3 165 50 1.2 | 002400 2.400 1. S S A-B 50.0 X 3
k= [ 10H28H o] 250] 350[ 15.0] 15. 100 0.8 | 0.00800 0.800 1.5 0 E=® A-B 500 x x
[#iZ= [ 10308 o] _150] 300[ 14.0[ 15. 150 1.3 | 0.00867 0.867 0.4 05 miE A-B 50.0 X X
[Fk= | 10H300] 10| 250] 300 15.4] 1. 50 1.2 | 0.02400 2.400 1.0 T4 E&E A-B 500 X X
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